R VCE & PDF https://lwww.geekcert.com/c_hanatec141.html
' 2024 Latest geekcert C_ HANATEC141 PDF and VCE dumps Download

GeekCert.com

C_HANATEC141°%4

SAP Certified Technology Associate (Edition 2014) - SAP HANA

Pass SAP C_HANATEC141 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/c_hanatec141.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by SAP Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEE
Satisfied Customers

Q00O

C_HANATEC141 Practice Test | C_HANATEC141 Study Guide | C_HANATEC141 Exam Questions 1/3


https://www.geekcert.com/c_hanatec141.html
https://www.geekcert.com/c_hanatec141.html
https://www.geekcert.com/c_hanatec141.html

VCE & PDF https://lwww.geekcert.com/c_hanatec141.html
2024 Latest geekcert C_ HANATEC141 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

You need to replicate data from an SAP ERP production system to SAP HANA. Where does SAP recommend that you
install the productive SAP Landscape Transformation (SLT) instance?

A. With the SAP Solution Manager system
B. On the SAP HANA server

C. On a dedicated server

D. With the SAP ERP system

Correct Answer: C

QUESTION 2

When you transport objects between SAP HANA systems using the Change and Transport System (CTS), you want to
create and release the transport requests manually.

Which transport strategy should you choose?

A. WBO_GET_REQ_STRATEGY = Smart WBO_REL_REQ_STRATEGY = Manual
B. WBO_GET_REQ_STRATEGY = Tagged WBO_REL_REQ_STRATEGY = Manual
C. WBO_GET_REQ_STRATEGY = Smart WBO_REL_REQ_STRATEGY = Auto

D. WBO_GET_REQ_STRATEGY = Create WBO_REL_REQ_STRATEGY = Auto

Correct Answer: B

QUESTION 3

You have to size an SAP HANA system for SAP NetWeaver BW. The SAP NetWeaver BW system is currently running
on a non-SAP RDBMS.

Which of the following factors influences the size of the SAP HANA system?
A. The partitioning of tables

B. The number of indexes

C. The size of aggregates

D. The number of tables in the row store

Correct Answer: D
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QUESTION 4

Which Linux kernel parameters need to be adapted during SAP HANA installation depending on the SAP HANA system
size?

A. net.ipv4.tcp_slow_start_after_idle and kernel.shmmni
B. kernel.shmall and fs.file-max

C. fs.file-max and net.core.wmem_max

D. net.core_rmem_max and kernel.sysrq

Correct Answer: A

QUESTION 5

What does the save point process in SAP HANA do?

A. It synchronizes changed data to the disaster recovery system.
B. It frees up memory by saving non-active data to disk.

C. It saves changed data to disk at regular intervals.

D. It saves changed data to disk when transactions are committed.

Correct Answer: C
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